=y S

SFHHE SRS A LA EE b Es BE TE(R)
GIN) (KAL)
B H ZEA | purm | s =
%%%ﬁ HaH B 1R [i]
EH 4 13,819,000| 13,819,000 0|
fiBh 4 0 0 0
A R4S FE flll 4 18,790 22,408 3,618| A
&t 13,837,790| 13,841,408 3,618
(R H) (HAL: )
B H ZEA | parm | e =
%%%ﬁ HaH B aR [i]
TR, R 225,000 225,000 0 |ZFikikshd 7 B3 . ikt
RIEE 105,000 105,000 0 | FEGHEaR2A
ZRtkt 13,197,800| 13,197,800 O | BT Hinde 2N S AT 3 2 1 5 O SR
Y EE S 26,990 30,608 3,618 | 315 H hh &
=R
1 il | A 110,000 110,000 0 |&iEE BRI
st 35,000 35,000 0 |15 Em A s
fifi LS OVEL R 138,000| 138,000 0 | =%t BB
&t 13,837,790| 13,841,408 3,618




